
The experts in riveting technologies352

Spare part no. Article no. Designation

1 143 4005 Housing, complete with sleeve grip

2 143 3967 Pivot bolt

3 143 3968 Snap ring

4 143 3964 Sleeve grip for housing no. 1

5 143 3976 Bolt

6 143 3974 Drive pawl

7 143 3979 Spring dowel sleeve

8 143 3977 Self opening spring

9 143 3973 Sleeve grip for operating lever 
no. 10

10 145 6591 Operating lever with sleeve grip

11 143 3978 Retaining spring

12 143 3975 Storage finger (3-part) per set

13 / M3 143 3995 Nosepiece - bit

13 / M4 143 3994 Nosepiece - bit

13 / M5 143 3993 Nosepiece - bit

13 / M6 143 3997 Nosepiece - bit

13 /6-32 UNC 143 4024 Nosepiece - bit

13 /8-32 UNC 143 4025 Nosepiece - bit

13 /10-24 UNC 143 4026 Nosepiece - bit

Spare part no. Article no. Designation

14 /1/4“-20 UNC 143 4027 Nosepiece - bit

14 / M3 143 4002 Threaded mandrel

14 / M4 143 4001 Threaded mandrel

14 / M5 143 4000 Threaded mandrel

14 / M6 143 4008 Threaded mandrel

14 /6-32 UNC 143 4019 Threaded mandrel

14 /8-32 UNC 143 4020 Threaded mandrel

14 /10-24 UNC 143 4021 Threaded mandrel

14 /10-32 UNF 143 4022 Threaded mandrel

14 /1/4“-20 UNC 143 4023 Threaded mandrel

15 143 5671 O-ring

16 143 3999 Nosepiece

17 144 5251 Knurled nut

18 144 5253 Snap ring

19 145 6595 Lock activator, complete

20 143 3972 Return spring

21 145 6594 Adjusting unit

22 143 3998 Knurled handle

23 144 5252 Spring dowel sleeve

FireFly

Blind rivet hand nut setting tools


